CBSE ANNUAL EXAMINATION

:j:{l;-".’:' 7. ' : ) ° ] °
T eV 1d3 arthi [Solutions With Detailed Explanations]
FREE Education SECTION - A (Each question carries 1 Mark)
QO01. Find the distance of the plane 3x —4y +12z =3 from the origin.
. : . ‘ax1+byl+czl+d‘ _
Sol.  As the distance of plane ax +by +cz+d =0 from a point (x,,v,,z,) is units .
\/ a*+b*+c
So, distance of origin (0, 0, 0) from the given plane 3x —4y +12z =3 is
\3(0) 4(0)+12(0)-3| 3
units = —units.
J(3)? +(~4)* +(12) \/169
Q02. Find the scalar components of the vector AB with initial point A(2, 1) and terminal point B(-5, 7).
Sol. As AB=OB-OA =(-5i +7])—(2i + )
— AB=-7i +6] .
So, the scalar components of K]g are —7, 6.
QO3. Find the principal value of tan ' v/3 —sec(-2).
Sol. Asrange of tan ' x is —Z,z and that of sec™ x is I:O,ﬂ':l _IE .
2°2 2
So, tan'+/3 —sec’(~2) = tan ™" (tan %) —sec’ (sec 2?”)
T 2r_Z
3 3 3
Q04. Given j e*(tanx +1)secxdx =e" f(x)+c. Write f(x) satisfying this.
Sol. LetI= Iex(tanx +1)secxdx =e" f(x)+c
=e f(x)+c= je"(tanx +1)secxdx
= :Iex(secx+secxtanx)dx = :Iexsecxdx+jexsecxtanxdx
= :secxjexdx—I{isecxjexdx}dx+jex secx tan x dx
dx
(On applying By parts in first integral)
= :exsecx—jexsecxtanxdx+jexsecxtanxdx
=e f(x)+c=e"secx+c
On comparing both the sides, we get
f(x)=secx.
2
QO05. Evaluate: I N4 —x*dx.
0
2 2
Sol. LetI:J'\/él—x2 dx =1= J'\/ (2)° - { 4-x +%sm (;ﬂ
0 0
2 . 2 . .ol .. T
=[=|=x0+2sin" | — —[O+251n (O)} =2sin" | sin— |=2x—
2 2 2 2
o I=nx
QO06. Let A be a square matrix of order 3 x 3. Write the value of |2A|, where [A|=
Sol.  As [kA|=K"|A
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Q07. If A"=|-1 2| and B{l ) 3},thenﬁnd A" -B".
0 1

-1 1
12 1] .
Sol. As B= —=B'=|2 2
1 23
1 3

3 4] [-1 1] [4 3
So, AT-B'=|-1 2|-|2 2|=|-3 0
0 1 1 3 _—1 -2
QO08. The binary operation *: R x R — R is defined as a*b=2a +b. Find (2*3)*4.
Sol. Since *: RxR — R is defined as a*h=2a+b.
So,2*3=2(2)+3=7.
Then, (2*3)*4=7*4=2(7)+4=18.
Q09. Write the value of (12 X ;)5 +1ik.
Sol. Since kxi=] and i.k=0
So, (lzsz)]AHAl; =}.}+O
s =1+0=1.
Q10. Find the value of x +y from the following equation:

1 3 y 0 5 6
2 + = .
0 «x 1 2 1 8
1 3 y 0 5 6 2 6 y O 5 6
0 x 1 2 1 8 0 2x 1 2 1 8
2+y 6 5 6 2+y 6 5 6
= = - =
0+1 2x+2 1 8 1 2x+2 1 8
By equality of matrices, we have 2+y =5,2x+2=8 =y=3,x=3.
So, x+y=3+3=6.

SECTION - B (Each question carries 4 Marks)

b+c a a
Q11. Using properties of determinants, show that: | b c¢+a b |=4abc.

c c a+b
b+c a a
Sol. Consider LHS and,let A= b c+a b
c c a+b
0 —2c -2b
=|b c+a b [Applying R, — R, - (R, +R,)
c ¢ a+b
0 -c -b
=2|b c+a b [Taking 2 common from R,
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_ =2b a O [Applying R.—> R, +R, and R,> R, +R
FREE Education oo oo
c 0 a
a 0 b 0 b a _
=250 —(-0) -b [Expanding along R,
0 a c a c 0
= 2{c(ab—0)—b(0 —ac)} = 2(2abc)
=4abc = RHS. [Hence Proved.
2 p 4 .
Q12. Evaluate: I ‘xg - x‘dx . OR Evaluate: I%dx.
% v 1+c0os”™ x

Sol. LetI= .2”x3 —x‘dx
e

= ='(if(x)dx+'|1.f(x)dx+if(x)dx, where f(x)=‘x3—x‘

(x°—x), if —1<x<0
Now, f(x)=1{—(x’—x),if 0<x<1.
(x°=x), if 1<x<?2

0

So, 1= I(x3—x)dx+j(x—x3)dx+.2[(x3—x)dx
L4 2] |2 4] |4 2]
11 11 16 4] [1 1
= {fo-on-{3-3fpo s - {25 HE)

4 4 4
OR
T xsinx
) ~([1+c052x @
_7[(7[ X)sin(z — x) o _a
_J; 1+ cos? (7 — x) ax [By using .([f(x)dX—.([f(a—x)dx

_j(” x)smx ...(if)
1+cos® x
On adding equatlons (1) and (i1), we get

ZI:I(erﬁ_x)zsmxdx :I:ZILdex
1+cos“x 201+cos X

sin(r—x) _  sinx
1+cos’(m—x) 1+cos”x

Let f(x)— T cod? :>f(7z X)=

i.c, f(T—x)= f(x).So by using, j F(x)dx = 2f f(x)dx, if f(2a—x)= f(x),we get

/2

" sinx sin x
o[ SN[ SInE g,
. 1+ cos’ x , 1+cos™x

Put cosx =t = shaud¥icnat Afatehlim owhess deafbmhip: 1/ vawds svhgarthmg /2 =t =0.
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2 2
= Z—0 - or, z .
4 4 2

Q13. A ladder 5m long is leaning against a wall. The bottom of the ladder is pulled along the ground,
away from the wall, at the rate of 2cm/s. How fast is its height on the wall decreasing when the foot of
the ladder is 4m away from the wall?

Sol. Let y m be the height of the wall at which the ladder touches. Also, let the foot of the ladder be x m
away from the wall. Then by Pythagoras theorem, we have
x*+y*=5"=>y=v25-x°
Then, the rate of change of height (i.e., y) with respect to time ¢ is given by,

dy x dx 2x e dx
= X = As it is given that — =2cm/s
dt 25—y dt 25— x* [ & dt

d_y__ 2x4 8

=———=——cm/s.
i Y 3cms

Hence, the height of the ladder on the wall is decreasing at the rate of %cm/s.

Now, when x =4 m, we have :

Ql14. Let a= i+ 4} + 212, b=3i- 25 +7k and ¢=2i- 3 +4k . Find a vector p which is perpendicular to
both @ and b and p.c =18.
Sol. Letp= xi + y} +zk . Since p is perpendicular to both  and b, so p.di=0 and p.b =0.

That means, 5.3 = (xi + 1] +zk).( + 4 +2k)= 0= x +4y+2z=0  ..(>i)
and, P.b = (xi +yj +2zk).(31 —2] +7k)=0= 3x =2y +7z=0 ...(ii)
Also, we have, p.7 =18 = (xi +yj +zk).(2i — ] +4k)=18=0=>2x—y + 4z =18 ...(iii)
Solving (i) and (ii) by using Cross-multiplication, we have
T - Y -2 = x=324,y=-A,z=-144.
2814 6-7 2-12

Substituting these values in (iii), we get 2(324) —(—A4) +4(-144)=18 = 1 =2.
So, x=64,y=-2,z=-28.

Hence, the required vector p is, p = 64i — 2} —28k.
Q15. If x=va™ ' and y=va“ ", show that Z_y -
X

;.
V1+x? -1

OR  Differentiate tan‘{ } with respect to x.

X

Sol. We have x = asmilt And, y — [acos’lt

Taking logarithm on both the sides, we get Taking logarithm on both the sides, we get

logx = log \/ ClSini f log y — log /acos’lt

loga| . = loga
= logx= sin” f _| 108 -1
g[zj jlogytzcost
On differentiating w.r.t.  both the sides, On differentiating w.r.t. ¢ both the sides,

ld_x:[logaJ 1 ldy (loga)l 1

:d_x_[logal X dy (loga y

- = = - .

dt 2 d&aﬂc’mal Material Downloaded from http://gewwievidyar i.in(/l P
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dt dx 2 J1—#2 )\ loga X X
FREE Educatlon 1-t &
d
a__ Y . [Hence Proved.
dx X
OR
2 —
Let y =tan™ {M}
X
Put x=tanO =0 =tan'x ...({)
1 1
vl ~ _
So, y =tan™ I+tan 6-1)_ tan ™' secO-1 = y=tan" cosO
tan© tan© sin©
cosO
0
2
[1-cos0 S| 2ty (. 0} 0
—y=tan | —— =y =tan =tan |tan—|=—
sin©O 4 2) 2
sin —cos —
2 2
1 71 .
=y=(tan" ) [By (i)
On differentiating with respect to x, we have: d_y = % X - 5
dx 2 1+x
dy _ 1
dx  2(1+x%)

Q16.

Sol.

x+1, if x is odd
Show that f:N — N, givenby f(x)= Nl is both one-one and onto.
x—1, if x is even

OR  Consider the binary operations *: R x R—R and 0: R x R—>R defined as a*b=la—-b/l and
ao b=a forall a,beR. Show that ‘*’ is commutative but not associative, ‘0’ is associative but not

commutative.
Suppose f(x,)= f(x,). If x, is odd and x, is even, then we will have x +1=x,-1, ie,

X, —x, =2 which is impossible. Similarly, the possibility of x, being even and x, being odd is ruled
out, using the same argument. Therefore, both x, and x, must be either odd or even. Suppose both x,
and x, are odd. Then,

flx)=f(x,)=>x+1=x,+1=x =x,.
Similarly if both x, and x, are even. Then,

flx)=f(x,)=x,-1=x,-1=x,=x,.
Thus, f is one-one.

Also, any odd number 2r +1 in the co-domain N is the image of 2r + 2 in the domain N and any even
number 27 in the co-domain N is the image of 27 —1 in the domain N. Thus, f is onto.

OR

It is given that *: R xR — R and 0: R x R — R is defined as a*b=la—bl| and ao b=a for all
a,beR.For a,beR, we have: a*bzla—bl:>b*a:|b—a|=‘—(a—b)‘:|a—b|.

So, a*b=b*a. Thus, the operation * is commutative.

It can be observed that,
(1%¥2)*3 = (|1-2))*3 = 1*3 = [1-3| = 2. Also, 1*¥(2*3) = 1*(|2-3|) = 1*1 = |1-1| = 0.
o (1%2)*3 # 142 E3) uhskal Meedis BowhiBasiddie RGBS BabPSSREiAfive.
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Now, consider the operation o:
%ébserved that 102=1and201=2.

FREE Ed 102(%201Wherel 2€R

Q17.

Sol.

Q18.

Sol.

e operatlon 0 is not commutative.

Leta, b,c € R. Then, we have: (aob)oc=aoc=a.Also,ao(boc)y=aob=a.
“(@aob)oc=ao((boc)
Thus, the operation o is associative.

Two cards are drawn simultaneously (without replacement) from a well-shuffled pack of 52 cards.
Find the mean and variance of the number of red cards.

Let the number of red cards drawn be denoted by X which is a random variable. Clearly, X can
take the values 0, 1 or 2.

2%

. P (X =0) =P (two non-red cards) = — S é

C, 102
2 2%
P (X =1) =P (one red card and one non-red cards) = C512>< < _ 2 )
c, 102
2%
. P (X =2)=P (two red cards) =52& =£.
C, 102
Therefore, mean of X = E(X) IZX.P(X.) ==0x 25 +1x °% +2x LN 1
= 1 102 102 102

Also, Var(X) =Z": X°P(X;) - [E(X)]2

N L - IR LI N —(1)2 76 _4
102 102 102

2
. Var(X)=— >
51"
Form the differential equation of the family of circles in the second quadrant and touching the

coordinate axes.
OR  Find the particular solution of the differential equation: x(x* — 1)Z—y =1, y=0 when x=2.
X

Let C denote the family of circles in the second quadrant and touching the coordinate axes. Let (-4, &)
be the coordinate of the centre of any member of this family. It is clear that the radius will be 4.

So, equation representing this family is: (x + h)* +(y — h)* = h? (D)
ie, X +y* +2hx—-2hy +h* =0 ...(ii)
On differentiating (ii) w.r.t. x, we get 2x + 2y Zy +2h—-2h ;ly
X
:>x+yd—y:h d—y—l =2
dx dx y' -1

Substituting the value of / in equation (1), we get

2 2 2
xSy XYY | XYY
y'-1 y'-1 y'-1

Sy —xrxryy ] [y —y-x-wT =[x+  S@rA@r @y’ =@ty
ey [y 1] =[xy T

e., .. (x+y)2KZ—zJ +1}—{x+yj—i}

This is the required differentigl.eauatinnrapLaseing the grvsnfanilyfigieles.
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Consider, ; = é + i + L

x(x-D(x+1) x x-1 x+1
= 1=(A+B+CO)x*+(B-C)x—-A.
On equating the coefficients of like terms, we get: A+ B+C=0, B-C=0,-A=1.

: . 1
On solving these equations, we have: A=-1, B= 5 C=—.

So by (i) we have: .[dy——J. dx +— I—d E md

= y:—log‘x‘+Elog‘x—1‘+§log‘x+1‘+k

2

al ;1 +k ..(ii)

+k:>k ——Iog[ij

1
:>y=510g

Now since ¥ =0, when x =2. So, 0—110g -

Substituting the value of & in equation (ii), we get

—llo x2_1+llo é

y_2 2] 2 8 3
1 4(x* -1)

==1

Y 2 © 3x?

This is the required particular solution of the given differential equation.

2 2
Q19. Ifx:a[costJrlogtan%J, y =asint, find 1y and d_y

dt? dx*

Sol. Given x=a [cost +log tan é} [On differentiating with respect to ¢ both the sides
dx . 1 (1) 1 S S| 1
—=a| —sint+ xsec’| — |x—|=a| —sint+ X X—|=a|-sint+——
dt 2) 2 b 2 t sin

tan — SIn— COS” —
2
:d—xzacostcott ...()
dt
Also, y =asint [On differentiating with respect to ¢ both the sides
:d—yzacost ...(11)
dt
Again differentiating with respect to ¢ both the sides, we have
d’ dy _d :
acost)=a(—sint
qi ~ qp\neost) = aCsin
d? .
—g =—qasint.
dt
Now, by (1) and (i1), we have
1
dy dy ﬁz(acost)x— :>d—y=tant
dx dt dx acostcott dx

On differentiating Editatiesyé datesiah Oawheaddddrom http://www.evidyarthi.in/
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Y eV ldB art!ﬁ;— o, (tant) = (sec” ) =g =sec’t

d’ 1

acostcott
FREE Education . d*y sec’t tant
oA a '
Q20. Find the coordinates of the point where the line through the points (3,—4,-5) and (2,-3, 1) crosses the

Sol.

Q21.

Sol.

Q22.

Sol.

plane 3x+2y+z+14=0.
The equation of the straight line passing through the points (3,—4,-5) and (2,-3, 1) is:
x-3 _ y—(-4) _ z—(-5) - x-3 _ y+4 _ z+5 — 1 (say)
2-3 -3-(-4) 1-(-5 -1 1 6
The coordinates of any random point on this line is P(3— 41, 1 —4, 64-5).
Consider that the line intersects the given plane 3x +2y +z+14=0 at P3-4, 1 -4, 64-5).
So, 3(3-A)+2(A—4)+(64-5)+14=0 > A=-2.
Thus, the required point of intersection is P (3 —(-2), (-2)—4, 6(-2) - 5) ie., P(5,-6,-17).

Find the particular solution of the following differential equation:

xd—y—y+xsin[zj =0, given that when x =2, y=r.
dx X
. d . :
We have xd—y—y+xsm I1-0 Y _Y sn|Y (1)
dx X dx «x X
It is evident that the given differential equation is homogeneous.
So, put y=vx = Z—y =0+ x;l—v (On differentiating w.r.t. x both sides)
X X
Substituting these in equation (1), we have
dv ovx . [ox do . dv .
V+X—=——sin| — =>0+X—=0v-sIinv =>Xx—=-sIinv
dx x X dx dx
dv . dx
= Xx—=-sinv :Icosecvdvz— —
dx X

= log ‘cosec v—cot v‘ =—log ‘x‘ +log ‘k‘ = log ‘cosec v— cotv‘ = log

k

X

= cosec [KJ —cot [zj = k = ksin [KJ = 3{1 —COSs [zﬂ
X x) x x x

It is given that when x =2, y=7.

So, ksin[%j=2{1—cos[%ﬂ =k(1)=2[1-0] =k=2.

oo S

This is the required particular solution of the given differential equation.

Prove that: cos™ 12 +sin™ 3 =gin! 26 )
13 5 65

Let sin™* 3 :x:>sinx:§:>tanx:§:>x:tan’1 3 )
5 5 4 4

(B3]
. sin (SJ—tan [4} ...()

Also, let cos™ 12 Y = Cosy =1—2:>tan(¥ :i: = tah >
18dlcational Material bdwnloade fro&%ttp:%www.evid drzhj.in/
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And, let sin™* [—j =z=>sinz= %: tanz = %: z =tah [%j
65 65 33

33
. sin™' %6 =tan’ 56 ... (iii)
65 33

Now, we take LHS:

12 3 4 5 4(3
cos™! +sin” | —|=tan | — |+tan | —
13 5 12 4

5.3
Ctant 124 | pan 20+ 36
1- 53 48-15
L 1274
=tan™' g—gj [Using equation (iii)
. 456
=sin 3 =RHS. [Hence Proved.

SECTION - C (Each question carries 6 Marks)

2
Q23. Evaluate: ijIH x OR Evaluate: _f( ¥+l

————dx
J1=x2 x—-1)"(x+3)
Sol. Letlzj.sin‘lx[ X jdx
V1-x?

Integrating by parts taking sin™' x as first function and

as second function.

1—x?

I=sin" xj[ de j{ (sin” xj( 1fx2de}dx

. Z_%smlxj[Ji—xjd x4 jl:\/l = J(Ji;jdx}dx

1
= =—Esm x[Z ] f\/i[ —xz}dx
= =—/1-x%sin’ x+J.1dx =I=-A1-x*sin'x+x+k.

OR LetI= jx—de (i)
1)%(x +3)
x> +1 A B C
= + +
(x-1%(x+3) x-1 (x-1° x+3

= x> +1=A(x—1)(x +3)+ B(x+3)+ C(x - 1).

Consider

On equating the coefficients of like terms, we obtain A = g, B=
5]
27 (x

= I=§10g‘x—1‘+% —ﬁ +glog‘x+3‘+k

3 1
So by (i), we have: [=—
o by (i), we have 8".(x—

Educational Material Downloaded from http://www.evidyarthi.in/
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FRY2H. Brlovaticn the radius of the right circular cylinder of greatest curved surface area which can be inscribed

in a given cone is half of that of the cone.

OR  An open box with a square base is to be made out of a given quantity of cardboard of area ¢’
3

. : . C .
square units. Show that the maximum volume of the box is \/7 cubic units.

Sol.
Let H and R be the height and radius of the base

of the cone ABC respectively. Suppose the radius
and height of the cylinder inscribed in the cone be
r and / respectively

Now, DF =r. AD=H - h.
As AADF~AAOC
AD DF _H-h _r

So, = = —
AO OC H R
e, h= (1 —L)H .
R
Let S be the curved surface area of the cylinder.
2
So, S=27rh =S=27r(1-L |H —S=27H|r-_
R R
. _y : ds 2r
Now, differentiating with respect to r , we get: I =27H| 1 R
r
2
Again differentiating with respect to r , we get: Z—? = ZEH(—EJ = —%.
r

For the points of local maxima or minima, Z—S =0
r

ie, o7H[1-2 co=r R
R 2

2
Now, d—? = —@ <0.
dr R R
2
So, curved surface area S, of the cylinder is maximum at r = R/2.
Hence, the radius of the right circular cylinder of greatest curved surface area which can be inscribed in
a given cone is half of that of the cone.

OR
Let the length, breadth and height of the open box be x, x and /4 units respectively.
2.2
. Area of cardboard used in the open box = x> +4xh =>c*> =x>+4xh =" 1 al
X
Suppose V be the volume of the open box.
> —x 1
S V=xh=x =V ="(c’x—x°)
4x 4
On differentiating w.r.t. x, we have: av _ %(c2 —3x%)
X
2 3
Again differentiating w.r.t. x, we have: e = —Ex
X

: : . av
For the points of lgeakatiaxsmasemaimewn|ogded-fbom http://www.evidyarthi.in/
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’% eVidyearihz]— 3x*)=0 =>x= % [Rejecting x = —% as, x can’t be negative.
FREE Educat;
=] )

Q25.

Sol.

Q26.

Sol.

Now, -

2

V3

: : c .
Hence, volume of the open box is maximum when x = T units.
3

1 . ¢ cY) 1 &
Now, maximum volume of the openbox is, V=—| ¢ | — |-| ——=| |=—| =——F—
4 (ﬁj (ﬁj 4(\/5 3\/§j
o ( 1j o
1-— =>V-=
430 3 6v/3
Suppose a girl throws a die. If she gets a 5 or 6, she tosses a coin three times and notes the number of
heads. If she gets 1, 2, 3, or 4 she tosses a coin once and notes whether a head or tail is obtained. If she
obtained exactly one head, what is the probability that she threw 1, 2, 3, or 4 with the die?
Let E; be the event that the outcome on the die is 5 or 6 and E; be the event that the outcome on the die
is 1,2, 3, or4. So, P(E|) =2/6 =1/3, P(E,) = 4/6 = 2/3.
Let E be the event of getting exactly one head.

P(E|E,) = Probability of getting exactly one head by tossing the coin three times if she gets 5 or 6 = 3/8.
P(E|E,) = Probability of getting exactly one head in a single throw of coin if she gets 1, 2, 3, or 4 = 1/2.

Le, V=

cubic units. [Hence Proved.

Observe that the probability that the girl threw 1, 2, 3, or 4 with the die, if she obtained exactly one
head, is given by P(E|E).

Using Bayes’ theorem, we have

P(E,)P(EIE,)

P(E,|E) =
P(E,)P(EIE,)+P(E,)P(EIE,)
2 1
1 3 2 1 11°
—X—+=—X—=
38 3 2

A dietician wishes to mix two types of foods in such a way that the vitamin contents of the mixture
contains at last 8 units of vitamin A and 10 units of vitamin C. Food I contains 2 units/kg of vitamin A
and 1 unit/kg of vitamin C while Food II contains 1 unit/kg of vitamin A and 2 units/kg of vitamin C. It
costs 5 per kg to purchase Food I and X7 per kg to purchase Food II. Determine the minimum cost of
such a mixture. Formulate the above as a LPP and solve it graphically.

Let the dietician mix x kg of food I and y kg of food II to make the mixture.

To minimize, Z = %(5x + 7y) b4
Subject to the constraints:

2x+y>8 ...()

x+2y>10 ...(11)

andx, y>0

Considering the equations correspo-

nding to the inequations (i) and (ii),
2x+y=28

X 0 4 S

Y 8 0 (450

x : S X

x+2y=10 Of 2 a\6 80

X 0 10 :

Y S 0 Y 2x+y=8 x+2y=10

Take the testing points as (0, 0) for (i), we have: 2(0)+(0) >8 = 0> 8, which is false.
Take the testing points as (0, 0) for (ii), we have: (0)+2(0)>10=02>10, which is false.

The shaded regiongs shown, 1 Hhe:gixen, ewis i35 rf&%%}?mmimﬁys unbounded.
The coordinates of thecesieRBRINty 9l fhasibieteaigpig B8 hdets 4) and C(10, 0).
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Q27.
Sol.

Q28.

Sol.

Wall.
FREE Eﬁi{léﬁ

So, Value of Z at B(0, 8) =3(5x 0 + 7x 8) =356
ef Z atP2,4)=3(5x 2+ 7x 4) =338

of Z at C(10, 0) =3(5% 10 + 7x 0) =350

Hl%nminimum value of Z is ¥38.

Since the feasible region is unbounded, we need to verify whether Z = %38 is minimum value of given
objective function or not.

For this, draw a graph of 5x + 7y < 38.

We observe that the open half plane determined by 5x + 7y < 38 has no points in common with the
feasible region. So, Z is minimum for x =2 and y = 4 and the minimum value of Z is ¥38.

Thus, the minimum cost of the mixture is ¥38 for 2kg of food I and 4kg of food II.
Find area of the region {(x,y) Xy <4, x+y > 2} :

We have {(x,y):x2+y2 <4, x+y22}.

Consider x* +y> =4 ..(I), x+y=2 ..(ii).

On solving curves (i) and (ii) simultaneously to
get the point of intersection, we have

X +(2-x)7=4=2x"-4x=0=2x(x-2)=0
x=0,x=2=y=2,y=0.

So, we have (0, 2) and (2, 0) as the point of
intersections of given two curves.

*. Required area = Area (OACBO) — Area (OABO)

2 2
= =[y.dx-[ydx

0 0

2 P i 2 2
= zj.\/ﬁdx—f(Z—x)dx = ={§W+§Sinl[fﬂ _{(Z—x) }

0 0 0

2 2x(-1) |,
= =K0+25in‘1 [%D—(muZSin_l(O))}+%[0—4}

= = (7 —2) sq.units.

Find the coordinates of the foot of perpendicular and the length of the perpendicular drawn from the

point P(5, 4, 2) to the line T = i+ 35 +k+ )\(2% + 35 - 12) . Also find the image of P in this line.

The given point is P(5, 4, 2) and the given line AB (say) is 7 = i+ 3} +k+ (21 + 3]A' —k.

x+1 y-3 z-1
3 -1

So, the coordinates of any random point Q on this line is Q(24—-1, 34+3,1-1).

Let Q be the foot of the perpendicular on the given line for some value of A .

Direction Ratios of PQ are 24 —-1-5,34+3-4,1-1-2 ie., 24-6,34-1,-1-1.

As PQ is perpendicular to given line.

So, 224 -6)+3(B81-1)-1(-1-4)=0=>41=1.

.. Coordinates of the Foot of perpendicular on the line is Q(1,6,0).

And, Length of perpendicular is PQ = \/(1 —5) +(6-4)+(0-2)

= PQ = 26 units.

Cartesian equation of line is: =A.

Also, let the image of P in the line be R(4, s, p). Then Q will be the mid-point of PQ.
+h 445 2+
So. Q(1,6,0) =QL5 n A ’”J

2 7 7
Hence, the Image ofpointPnigkdhogystiBads Restpaberdd sample Papers

=>h=-3,5=8,p=-2.
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P 929 Usin: ?gtrices, solve the following system of linear equations:
© ld / Y +4y+7z=4;2x—y+3z=-3; x+2y-32=8.

FIOPE Ehhecgivemsystem of equations is: 3x+4y+7z=4;

2x—-y+3z=-3;
x+2y—-3z=38
3 4 7 4 X
By using matrix method: let A={2 -1 3 |,B=|-3]|and, X=|vy|.
1 2 -3 8 z
Since AX=B =X=A"B (1)
3 4 7
Now, |[Al=]2 -1 3|=33-6)—-4(-6-3)+7(4+1)
1 2 -3
S TAT=62#0 = A is non-singular and hence, it is invertible i.e., A™" exists.
Consider Cj; be the cofactors of element a;; in matrix A, we have
C,=-3, C,=9, C,=5
C, =26, C,,=-16, C,=-2
C, =19, C,, =5 C,=-11
3 9 571 [-3 26 19
So, adjA=26 -16 -2 | =9 -16 5
19 5 -11 5 -2 -11
-3 26 19
AT =L(ade) _1 9 -16 5
Al 62
5 -2 -11

Now by (i), we have X=A"B

(-3 26 19 4
So, x=i9 -16 5 ||-3
62
|5 2 11| 8
[-12-78+152
= =i 36+48 +40
62
| 20+6-88
62
1
- =6—2124
62
X 1
Le., yl=| 2
z -1

By equality of matrices, we get
x=1,y=2,z=-1

Hence, x =1, y =2, z=~1 is the required solution.
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